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Master of Arts (Economics) 1* Semester

1128
CONTEMPORARY ISSUES IN INDIAN ECONOMY—I
(In all Mediums)
Paper—MAECO-102
Time Allowed : Three Hours] [Maximum Marks : 80

Note :— Answer five questions in all. Q. No. 1 is compulsory. Select
at least one question from each Unit.

1. Short answer questions. Attempt any ten parts.

(i)  Occupational structure of India during pre-reforms era.

(i1) Recent status of Service Sector in Indian Economy.

(iii) Rationale for second generation reforms.

(iv) Two major reforms in India’s external sector.

(v) Impact of reforms on employment.

(vi) Major Findings of Report of Expert Group on Estimation
of Poverty, 2009

(vii) Reforms and Inter-State disparities in India.

(viii)Skill India initiative and unemployment.

(ix) Causes of deceleration in Indian agriculture during reforms
period. :

(x) Recentinitiatives for IndiénAgriculture.
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(xi) Two strengths and weaknesses of Indian Agriculture.

(xii) Main features of India’s Industrial Sector.
(xiii)Impact of FDI on Indian Industrial Sector.
(xiv) Enlist India’s major growing industries with their brief
status.
(xv) Why Indian Industry could not act as engine of growth ?
20
UNIT—I
What were the strengths and weaknesses of India’s present
economic structure ? Explain in detail. 15
Why were economic reforms introduced in India in 1991 ?
Critically appraise impact of economic reforms on key sectors
of Indian Economy. 15
UNIT—II
State major trends of labour force growth and occupational

structure in India ? What are the major challenges emerging
out of India’s current occupational structure ? 15
What are the shortcomings of government’s initiative taken for
eradication of poverty and unemployment in India ? What needs
to be done in this regard as solution of current status of poverty
and unemployment ? 15
UNIT—III
“Indian agriculture experienced quite uneven growth pattern
since independence.” Give your agreement/disagreement to the
statement with appropriate empirical evidences/examples.
15
Present detailed scenario of food security in India. What are
the problems and policy options pertaining to India’s food

security. %
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UNIT—IV
8.  Describe and compare India’s Industrial Policy Resolutions of
1956 and 1991. What were the rationales for implementing
those during respective periods ? 15
9.  Enlist various reforms implemented in Indian Industrial Sector.
Also highlight their positive and negative impact on India’s

Industrial Structure. 15
("= =remm)
AT~ T qF YT HL | YA qer 1 stEd | geds ghe #
q T Y AL

1. g X @ | R 10 9T FL
(i) T IR IT & QAT 9RG H AEEEF § @ |
(i) 9T srfegam & a1 &7 # B A Rufy
(iii) @ GG & gaRi & fog T amER |
(iv) 9Rd & 88 &7 § T 9@ gar |
(v) TSR 9 GoRI & 9919 |
(vi) TS & SFAA, 2009 R Ao @ w RO F ygE

]

(vii) 9Rd # IR R AR FEAA |
(viii)®ETd 9IRT gt 3T SRS |
(ix) U 3@ & A ARG FO F HG F HR
(x) W B > g e vl |
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(xi) W FY A QT THd AR FAAN] |

(xii) 9Rd & AGNF & B FeI e |

(xii) T =AM &7 T THSIE, T g |

(xiv) RA B @ qad IANN T I Fiara Rafq & g gios
Cad

(xv) 9 AW G & 399 + w9 F dE ;@ A R

el 7 20
-1 |

IR ! aqH AR FTIAT I dqreha M FAEeRAT 7T of 7

fawaR & =@ #X | 15

1991 # A=A H 3 g 41 7w FY 77 I ? IRy sefeqaw
3 JHE &A1 W e GERI & UG H AAEAHS qedin
| 15
(e ||
ARG H HHES &l AR AEEIS GO B G @ ford |
IR A AT TG GCaT B @ SHIA arl Ggd g
g 7 15
XA H T 3R SO & 9 @ g X @ vl A
FA1 FHHAE E 7 TR AR S A FoAE Rufd & qHEE 6
w7 I g H 1 FA A AEa9IHAl B 15
eI
‘Al HY A AR F SR § EHE faEw Yo & agwa
o 2 17 IR FIHESY Hed/ 3B H qY A G AT
HeHld,/Jweafd < | 15
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—
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WRA F wr GRE 1 A IRGY RRyEd e FY | AR
ﬁ-@agtwﬁmamaﬁrmﬁmw%?

15

E (i A%

1956 ¥ 1991 & 9d & i A Fawedt 1 aviT AR gor
FY | el Fa & QXA ITHN A FIA D O TH-ER FAT
¥ 7 15
TR w8 § oy R el @ gEes B TR
F A GTEAT W AP TRRHD AT THRCHD GHT HI
off IR FX | 15

(JrAmst nigee)

— % Un yFs a9 | YA 389 1 3wt 31 731 gfee e fex

YRS 9|
Hw 839 yAs JE e YAS a9
(i) y9< HUT dar ¥ 93 € feeAfed 39
(ii) 393 nigafeerer &9 A< 839 & 3= AfEST
(iii) Tt W=t Fot wEt 399w
(iv) 3793 ¥ grgdt 839 9 € YWy Au9
(v) W9 3 HUS T YST

(vi) Tt 2 nis, 2000 7 wifog A @ fale @ M
g

(vii) 3793 &9 FU9 W3 WiSIIHSIT AN
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(viii) T&9 3793 Ufg® »3 FIwaret

(ix) FOgt & fimme @ S96 adt astaEt e we @ <9s

(x) 393 BTST B TH I it ufost

(xi) 39St BIEE it € I3t 3 IHTESIT

(xii) 3793 ¢ Belfax 8439 et vy ferms=t

(xiii) 3931 Betifax 839 3 e, 3t el T yge

(xiv) 393 2 Wy F0R Getiar § Gst 9 Mtz Aftst s BT
Cofl

(xv) F93t f¥3Acdt feam 2 fEas =n aH fa@ &df a9
Fael ? 20

gfee-1

393 T Hger »iofad g3 et BRSMIT ni3 SHEdr &

s ? fergg ff9 fenrfimr 31 15

1991 &5 3793 &9 nrafea gue fa€ Hg 13 I AG ? I93T

nigefeeHET 2 Y 8397 ’3 niafas AUTST € YSTE T MTBUEIHS

HBIE &9 | ' 15

gfse-11

393 &9 393 o8& @0 w3 feeAfed 9239 © Yy 956 & |

3793 o Fige feeAfed 9239 © AaHE B T@mit vy gt

ot I& ? 15

393 &g adidt »i3 SgFdrdt © W3H BT gd T JeH <Y

ot sninit g5 7 Sgwardt € Hger AfEsSt € 9% € gu 99 fem

Aoy &9 of 95 & 7993 I ? 15
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gfse-111
‘I3t IS 3 nimrEl 3° T WAHTS TR Ueds T nigse
3T 31 €fez niss<t Ays/Beass € 5% fams 3 nrust
AfoHSmimfaHst fe@ 15
793 R9 Yo pafemr & Hger ufefer feraoyd=s Un &J1
393 ¥ yIx Adfem &% AEU3 ANfimret w3 SiSt 9 ot
Js ? |55)

gfse-1v
1956 »3 1991 ¥ 393 ¥ Beufli BISt Aasut € II6s a9
3 3%5T A9 | AEMUS AN 896 BIa' § H'd II&6 BET IIS-NUd
St A ? 15
g9t etifaa 439 9 & o3 IR Y-y gUT § HOtEU
ad| 393 € GEfo 5239 3 €T T AATSHA M3 AT IHI
yse & BAe 9| 15
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